13 &4/ ¢ 2 FFEHFFRERAE

-~ Ry AT FCRE T Rt wF % 133024192%@1#3‘*”
EREREEE TR 5 3 T WIS Y LN S F ) N E S ¥
’r'*?\f;;i/%*‘l\ﬂ@
T+ 5

I
-3*
S
=)

"1
M»»
5
.
Et
1
@)
<.

T o~ A PRH x::i‘f‘*’rF %ﬁ BREREWEE

CERPRE g 2 A F

R 1N SLERNCE- &8 Sl IF )

S LHEE Y FARRA SRR K IR LEFLLR
A ‘§;ffﬁ.§§-

Lt A+ MY Re-FEF > O fFZ B8R %if?%
we20110801@yahoo. com. tw o & * H#RF 3 £ A4 5 L 4k
FAPHTRERLERE o

23 L pP:107 28p 211 % 3p 2

1 v EPH: P EARISELL T 22-24 p(H=23%)
Lot FE g A 2B (XA REFLS
S s FEb(EEEH%RS L E)

I=q

f
& B 510 5

o

AEREL e AR E SR @?l%ﬂ%‘fp%%%‘fi
AERYEARE PR RS

AT BRI AT L PG RREARARTE LR
AT FIE VLN EAFIFYRREARAET L LR
AR UL LR R FART S 2 F
AR LA Lo 2R FABE S R
ARFLE2FE PR BRREARAET L S F
SEBI e 2REF B %xiﬁ%x;__”%‘?iéji%

¥

¥

\\\?{r \\\?{r

g T FE: 2REIFALRRABTL 2 F
gHIE: 2REOFECBRRASEES ’}?‘
R -

L. W3 24 ¥
2.4 € B 4 1000 ~
S v ERE RHBEREFR LG AT HERDE FEE LRI BT RE o

Z .
L &z

L FIE/ABRT /G FLa/oRAL /g | ORI E/ORRT L Wt /2B R e
1 55 = T & 45 27 & 49 27 & 40 27 fe
2 61 = 7% 49 27 & 55 = T & 45 27 s
3 67 = 7 & 55 = T & 61 = 7% 49 27
4 73 = 7% 59 = 7 & 67 = 7 55 = T &
5 81 o7& 64 =7 & 73 =7 &% 59 &1 &
6 89 = 7 1 27 % 81 &7 & 64 =7 ix
T 96 = 7 & 76 =7 & 89 o7& 1 27 5%
8 102 2 7 2 81 o7& 96 = 7 & 6 =7 %
8 109 = 7 & 87 =7 & 102 = 7 % 81 =7
10 +109 = 7 & 8T = 7 & +102 = 7 +81 2 7




L

-
Ei

NSRS

T &%:}z%@&%’r‘rﬁ v B P IR YER R 0L
LA BRLAISE L 22 P (FIDF-FFELEE

FAe B R A0 o
S B RLAM: 13 E 1LY 24 p(FP)FERBE
- ‘ﬁg@’#/z:
1~ B A rkBm 2 &0 BBk Mo
2 MR Lo LE Bk Ko

+4 ‘%L?U;i;'h‘f'q}; %L?U;i‘:i i+ ”‘L}/\i’% ]9_:4/,,\4—5}1\;}—% 1%‘

L

- 1 _

[

£ -

L

~

~

ﬁf’ﬁﬂxgg iﬁg%é‘,

gFARAGE LELR VR

E%i;
%\ 5 ¢
ABEF ARET 0 4§

I

=4

PR ST -

Rt o

WE T o FREr b R

TR o

#’“Pi. ’ @F?'

113# 117 21 p == 14 :004FF5 € 3& °
113 # 117 21 p T2 15: 004 FR € R B ALETHEIT o
iz i



132447 ° 3 EREHRRH 24
g K

T xR -
A CH P &
Wz £ A4 E Do Lo #oF R

kT R H IR ES B AT
(17 & &
(k&
LoaAp B (B A T30 o B o0 B2 8B~ Ap 7 2 S G RPN & g B O
Wt A T REEERE R o
2HEBAFTHTAIFEEAAHE R R Y
FLp

s . hoz .,
B A W
£




